MAT152 Calculus II  

MIDTERM             



NAME:_______________________

Prof. Porter                                   Show all work for full credit.


1. What is calculus?

Give a good example of how the Integrals in Calc 2 could be used in a real life application that would be of interest to you personally?

The world population in 1900 is 3 Billion and in 1910 is 4 billion. Use the data points to find an exponential regression.   (1900, 3), (1910,4)  and give the average population.









ANSWER:_______________________

2. Find the area under the function y(x)=
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 and between the values x=1 and x=3  by using the calculator.










ANSWER:_______________________ 
Give the definite integral notation to describe this value.







ANSWER: 
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Use the Fundamental Theorem of Calculus to find the exact area of  
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ANSWER:_______________________

3. Estimate the area under the function y(x)=
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 and between the values x=1 and x=3  by using two rectangles. Draw a picture.










ANSWER:_______________________

Use Simpson’s Rule to find the area with n=6









ANSWER:_______________________
4. A vase is created by rotating the area in quadrant I between the lines y  = 3x, y = 2x and

y = 5  about the y-axis.Use the method of washers to find the volume of the clay needed to make such a vase. Be sure to give the integral you would use. (Give the exact answer or the answer to 2 decimal places)









Answer:________________________

5. Use the method of cylinders to find the volume of the inside of the vase. Be sure to give the integral you would use. (Give the exact answer or the answer to 2 decimal places)

6. Evaluate the integral by using the table of integrals.
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ANSWER:_______________________


Verify with trig substitution

7. Discuss if the following integrals are solvable? Evaluate the integrals if possible.
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ANSWER:_______________________
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ANSWER:_______________________

8. What is the area between the curves y  = x(x - 3) , y = x(3 - x),  x = 0 ,  x = 3,





ANSWER:_______________________

9. 
Evaluate the integral: 
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ANSWER:_______________________







U=:_______________________

10. An old physics book gives the following integral and its solution. It says that it used integration by part, but part is missing. Finish the integration:
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ANSWER:_______________________ 
EVALUATE THE INTEGRALS.

What methods are used. (Do not use the table of integrals.)

11. 
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Answer:________________________

12. 
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Answer:________________________

13. 
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Answer:________________________

14. 
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Answer:________________________

15. 
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Answer:_______________________
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